PI.	ANT	ENTER	PRISES	PRODUCTION

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
COTTON						
Lint - Non-irrigated		728.1	982.00	714,994	lbs.	\$371,797
Seed - Non-irrigated		728.1	1,571.00	1,143,845	lbs.	\$62,911
Cotton (Total)	*	728.1				\$434,708
FORESTRY						
Pulpwood						
Pine				141,818	cords	
Hardwood				57,001		
Pulpwood (Total)				198,819		
Chip & Saw				6,406	cords	
Saw Timber						
Pine					board feet	
Hardwood				1,994,177	board feet	
Saw Timber (Total)				43,717,610		
Total Pulpwood, Chip & Saw,						\$34,822,381
Saw Timber FOB Mill						
Total Forestry Stumpage						\$19,735,857
Christmas Trees	*			100	trees	\$4,000
Forestry (Total)						\$34,826,381
FRUITS						
Blackberries	*	2.0	1,500.00	3,000	pints	\$3,000
Blueberries	*	129.3	3,516.00	454,618	lbs.	\$568,273
Fruits (Total)		131.3				\$571,273
FEED GRAINS						
Corn	*	308.7	80.00	24,696	bu.	\$56,554
Feed Grains (Total)		308.7				\$56,554
GREENHOUSE VEGETABLE						
Tomatoes	*	5,760.0	4.24 Yield / sq. ft.	24,422	lbs.	\$32,970

PLANT ENTERPRISES PRODUCTION

Crop	umber of Producers	Acres	Yield per Acre	Total Production	Units of Measure	Gross Farm Value
Greenhouse Vegetables (Total)		5,760.0				\$32,970
HAY FOR SALE		,				
Grass	60	4,500.0	2.25	10,125	tons	\$506,250
Hay for Sale (Total)		4,500.0				\$506,250
HOME GARDENS	575	•				\$172,500
NURSERY CROPS						
Fruit and Nut Trees	*				acre	\$20,000
Floraculture & Bedding	*				acre	\$250,000
Plants						
Woody Ornamentals	*				acre	\$50,000
Foliage Plants	*				acre	\$50,000
Nursery Crops (Total)						\$370,000
SOYBEANS	*	221.7	24.00	5,320	bu.	\$35,378
VEGETABLES						
Southern Peas (Fresh)	*	3.0	110.00	330	bu. (24 lbs.)	\$6,600
Vegetables (Total)		3.0				\$6,600
TOTAL ALL PLANT ENTERPH	RISES					\$37,012,614

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

Fisheries	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
AQUACULTURE Catfish (Farm) Aquaculture (Total) FRESHWATER FISHERIES	*	10 Acres in Prod.	20,000	lbs.	\$11,400 \$11,400
Catfish (Wild) Buffalo	10 10		13,669 1,965		\$6,383 \$303

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

Fisheries	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
Freshwater Fisheries (Total)					\$6,686
FUR ANIMALS			147	pelts	\$779
HUNTING LEASES	16	311,178 No. Acres		acre	\$1,244,712
		Leased			
HONEY	6	35 No. Hives	3,500	lbs.	\$4,725
TOTAL ALL FISHERIES &	WILDLIFE ENTERPRISES				\$1,268,302

ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
CATTLE & CALVES					_
Steer Calves					
300-400 lbs.			1,527	head	\$554,866
400-500 lbs.			1,710	head	\$714,789
500-600 lbs.			1,955	head	\$898,264
600-700 lbs.			916	head	\$476,320
Steer Calves (Total)					\$2,644,238
Heifer Calves					
300-400 lbs.			1,298	head	\$415,503
400-500 lbs.			1,453	head	\$547,730
500-600 lbs.			1,662	head	\$707,879
600-700 lbs.			779	head	\$379,763
Heifer Calves (Total)					\$2,050,874
Yearling Cattle					
600-700 lbs.			900	head	\$468,000
700-800 lbs.			900	head	\$506,250
Yearling Cattle (Total)					\$974,250

ANIMAL ENTERPRISES PRODUCTION

Animal	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value
CATTLE & CALVES						
Cow-Calf Pairs				1,437	pair	\$1,034,640
Cull Cows				2,000	head	\$660,450
Cull Bulls				206	head	\$150,483
Cattle & Calves (Total)	206	14,375	No. Cows			\$7,514,936
DAIRY						
Dairy Cows						
Milk	22	4,090	No. Adult Cows	57,002,669	pounds	\$7,404,647
Cull Cows				1,023	head	\$496,794
Bull Calves				2,250	head	\$61,875
Dairy Cows (Total)						\$7,963,316
Dairy (Total)						\$7,963,316
HORSES						
Brood Mares						
Show Horses	*	40	No. Brood Mares	30	head	\$90,000
Recreation Horses	*	55	No. Brood Mares	50	head	\$75,000
Brood Mares (Total)						\$165,000
Stud Fees						
Show Horses		3	No. Stallions	15	mares bred	\$22,500
Recreation Horses		5	No. Stallions	25	mares bred	\$2,500
Stud Fees (Total)						\$25,000
Show Horses	50			100	head	\$400,000
Recreation Horses	200			400	head	\$400,000
Horses (Total)						\$990,000
POULTRY						
Breeder Flocks	7	251,000	No. Birds	4,282,687	doz. hatching	\$1,627,421
					eggs sold	
Poultry (Total)						\$1,627,421
						Page 4 of 5

ANIMAL ENTERPRISES PRODUCTION

	Number of	Units of	Total	Units of	Gross Farm
Animal	Producers	Production	Production	Measure	Value
SHEEP					
Slaughter Lambs			7	head	\$687
Cull Sheep			2	head	\$70
Sheep (Total)	*	8 No.Breeding			\$757
		Ewes			
GOATS					
Show Goats				head	\$600
Slaughter Goats			65	head	\$5,525
Stocker Goats			20	head	\$1,300
Cull Goats			10	head	\$420
Goats (Total)	9	120 No. Does			\$7,845
SWINE					
Feeder Pigs			270	head	\$4,860
Culls			2	head	\$220
Swine (Total)	*	15 No. Sows			\$5,080
EXOTIC ANIMALS					
Deer/Antelope	*	40 No. Animals	2	head	\$250
Exotic Animals (Total)					\$250
TOTAL ALL ANIMAL E	NTERPRISES				\$18,109,605
DE SOTO PARISH TO	OTAL				\$56,390,521